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Jim Stiles The Univ. of Kansas Dept. of EECS 

Special Problem 2-5.3 
 
Determine if each of the following expressions results in a scalar field 
(S) a vector field (V) or neither (N). 
 
 

( ) ( )r rg h∇     _________ 
 
( ) ( )r x r∇ ⋅A B     _________ 

 
( ) ( )r x x r∇A B     _________ 

 
( ) ( )r r∇ ⋅A B     _________ 

 
( )x g r∇ ∇      _________ 

 
( )x r∇ ∇∇ ⋅A     _________ 

 
( ) ( ) ( )r r rh g+ ∇ ⋅B   _________ 

 
( ) ( )( )r rh∇ ∇ ⋅A    _________ 

 
( ) ( )( )x h r rg∇ ∇    _________ 


